1T
U — T

FERRX —IEKH RETEXR TRKH XRKEHR =RXE XEER
FRIPA 3= 5%

B 5%
RRER 5%
ARimECH/ 5%

/18T
/BN
EHHEe 5%
B85t 5%
Ea 5%
BEIF9y PANVELL 5%
/S /I
TR
Eol/HE 5%
/B /EK
U=zl

ZoE 5%

E18/F 5%
SN/ Bl
EaR/AR 5%
RIARZEE
FE&%E/E 2%
/BT

=1

BIT&E/% 2%
ITESE/E
[
PheRMCIh  PERE 5% iz 5% i%élbﬁ‘éﬂﬁ@ 2%
Wik 2%
Hth=%% 5%
==

ot

1/14



1T

RS — R TFEeEe

IREIGN

rgiEimEm 5%
( BEH

)

FIXH/E 5%
TZETI/R

i
PEE/2E 5%
[/
&8
HR=E/a0a 5%
/3522/5

% (BB

)

AME/BE 5%
/3% /ML
& (BiS

)

2BEFT 5%
2 (BB

# )
K=/t 5%
/WL (
EHIEF

) (BB

)

Hib—% 5%
%E

k€ (FF 3%

)

HE/PT ( 3%
=)
BeEih 3%
(&)
SHRRE 5%
==

Hith—%% 5%
%8

i 3%
e 2%

HEZAR 5%
=
a0

Htt—% 5%
<H

SRE
Hh=2%

ES

T
St =4}

=S

=

=

1%
5%

2%
5%

2/14



1T

RS — R TFEeEe

ES 1%

M

MPZIB

25/
iz
I

A/ EIK
/EETE
ESAE SN
ESngrii
( BiEH
)
Z1%m (
g )
MNAIFHE

5%

5%

5%

5%

5%

3%

EBIRS

4%

=B

KN/ 5
B /1EE
AR

MFAA

HoBRiFIE

SRR/
PR
{RAKHE
(a5
SRFSH
=L
xALE
IR

5%

5%

3%

5%

5%

4%

4%

5%

3%

EEED
ARSS REHA
I
Hitt=%%
<H
IREEE/ v
REEINIL
(63
REERY
R/iR
Hitt=2%%
XH
BRI
BIRTIZR/
Vabe)
Hith=2k
=XH
IZHBY
Hitb=2%

2%

5%

5%
5%

5%

3%

2%
2%

5%

5%
3%

3/14



1T

RS — R TFEeEe

R
E#

IR
RI/BEM
/HR/BEE

ES gz

THERm
( BEH
)

BefZARER/

PR (

1BisH )

HERKEE

T /iREA
mn (185

)

DYN:ELLY

([TEllEElT

PRI /1PiE

[PRT7 2SR
( BEH
)

RiERm/

BEREF

N FERm
( BEH

3%

3%

3%

4%

3%

4%

3%

3%

CIRERE

SR

Hth— 2%
%*E
CREtPIE

%@:ﬁ

<H

REERIFD
B /&R
HE "%
%H

3.00%

3%

3%

3.00%

3%

5%

3%

2kH
ZRl/ORE
===
Hfb=% 3%
3=
BIVEERS 5%
MG

Hft=% 3%
<H

2.50%

FRI/ORE 2.50%
==
Hh=% 3%
=]

4/14



1T

RS — R TFEeEe

o2
WREBERIE

)
(SN
=7rm (
25 )
B (B
15! )
& (B8
)
DIME/ = A
/IR
FR/RE
/7=

B R

(BEH

)

FRIHKTE/
mad b5/
UGN

Gt

RH/ARE
/RS
BR/FE
Lo

WRAMIRE

iR/
PR/

3%

2%

2%

2%

2%

2%

2%

2%

5%

5%

5%

5%

fEER=
Htb— %%

%8
K/E#/
ZHHR
BRH/AE
1732
Hith— 2

=H

Taw
%@:ﬁ

3=

EHt

it 4%

<H

1%

2%

1%

1%

2%

3%

5%

2%

5%

BEREAE
EA BT
EA TR ERAE
Hh=2%

2kH

1%
1%
1%
2%

5/14



1T
U — T

(FEREZ
BB  m/EE 2%

[EF/

FE

BER/Z)L 5%

x=/FETE

TEHD/ D 5% XEHR 3%

BmMkH

T wEE 3%
WER 3%
WER( 3%
)
Hith—4%% 5%
%H

PP/ 5% IR5Es/BEC 2%

Fe9ARER/ 1 (a8

=4 i )

WELAm 2%
HARRE. 2%
FreAm 2%
BF¥E#H 2%

@\thawa 2%
7]
IR 2%
BR/55AR/
A
ZEEaE 2%
FrEm
ZEACRE 2%
I
Hih—4%% 5%

6/14



1T
U — T

AHEE HIFER 2%
G
iEE 2%

SRINE/ 2%
[Eizhz
BB/ 2%
FBUNEX/

F/F )
/FE
b5/ e
|ZR/R
i
/D
/IBRINK
&
At/
5/ 7

=
AR

JLERERE/
*=F5F
BERE
J*Ieh/;z%
=I = n (
%IJ )
%%) FiE
M
22K

Hfth — %%
<H

bk e

3%

3%

2%

2%

5%

3%

3%

3%

3%

5%

3%

BEHF 3%
A=
BEHF 3%
H=E
Hitt=% 5%
%H

7/14



1T
U — T

I ARSS Beitit 3%
r
Hith—%% 2%
%H

FHBIE/, 2%

=L/

NEIRIE

f%‘l‘i‘%’ﬁ 2%

m\ﬁ%]:a&b 2%

=

AHAETE 2%

RS

B (& 2%

54l )

/iEmE 2%

VE-E:!

RS (B 1%

54 )

ErkiE 3%

FRARSS (

g )

EiFE EERER 1% THIRS 2%

7B
Hitb—% 1%
%H

L% 2%

MR (&

54 )

Fenh/BkE 0.60% 2rE/= 1%

/BERE Z)G]

Fuly Hib—4% 0.60%
%*H

WiE (1 1%

A=)

FHSE/ 1%

EE/18E

2=

KfEREEE/ 3%

8/14



1T

RS — R TFEeEe

ItE/ReR

EHHE

FLAR3ZEl

3CEEZ
=)

ERE /MK
vs/ﬁfﬁ (
Llﬁ r&ﬁJ )
/J%iﬂ/cos
/T

Reg/Efth
/NE /B
14
InE/EE
/T8 /FR
AN/HEEY

FI R
HBaE

i

:F-l’ %ﬁ/ 7J<IL,
/R4
BREAM
=1t
KR/
L
3CELREELD
%
DIYEEfi

F

5%

2%

5%

2%

0.50%

2%

10%

2%

2%

5%

2%

2%

2%

U J=isded
R/EEE
Hith— 2%
<H

F3/3L8

/4EEXXE

B¥/&ee
9=

Hith— 2%
<H
HEFIRSS

Hith— 2%
%E

2%

5%

2%

5%

5%

5%

B/ = 2%
EEZ S
Hit=% 5%
2B

9/14



1T

RS — R TFEeEe

Fa3T/Eoit
/%% B
i

B

R

TS e
IRE&
S arean

BReIRE

AR EE X/
MID
UAYNEELTY
PDRIRE/
Fetg/HER
RS

FE fixeg{4/
EBraz/M
A
5B

MBI TR/
TESUEPS
BR/RE

rEhEEH/
mhE—{K
H/ARSS =5
e Ta%iN=:]
fig
FEfITas
Hhis
=EN=]E

BRNZ

2%

2%

2%

2%

2%

2%

2%

2%

2%

2%

2%

2%

2%

2%

2%

5%

5%

10/14



1T
U — T

REAGR 5%
IKEREETR 5%
RKEihEm 5%
4iEEEE 2%

B/ B 2%
/g
ER/ZE 5%
FBE
/D 5%
xE
KEE/TAN 5%
malE
EIRE 5%

hF&€/TE 5% SirFAm 2%
Hib—4% 5%
%H

EBF/EBT 5% EB4k 2%
BIRE 2%
®E
WSEEEEtS 2%
JNEIN
PhEiRE 2%
ESPNER
5T
Hib—4% 5%
%H

FExRE 5%

2ETEH 2% HoiR 5%

EmIn 5%

11/14



1T
U — T

EHER 5%

i:lz
Hith—%H% 2%
%H
R 2%
HilsEtr 2% XHAEE 5%
Hib—%% 2%
%H
FREE 5% e 2%
Hith—%% 5%
%H
FalJim 5%
JEIR
EBEME 2%
R HlER
TIRE 2%
FERLH 2%
BEI /|I/-
PAREE/ 5% EB/E=R 5% BFitE 3%
1FIREE RS HWEN TR 25
Hth=%% 5%
*H
BIZRINE 2%
I NMEH
FiaRIE]
FEIX, 3%
RER/D 3%
K
FEFH/ME 3%
BE/EE
FE
YREESS/ 3% PERI/ZE 5%

{RigE=E HRIY

12/14



1T

RS — R TFEeEe

IVENEL
%

—FHE

% /%
&/EcH
iVERm/
F5/iEit
IBES

T
/5P
S£55/4R
s

AEER

RS

—Frham
(1BiEE
)

2%

3%

2%

2%

2%

5%

REEFE(
RIE/ R/
IEYE)
CIREEEF/
EHeer-m
KRR R
2Et7
Hith— %
%H
RGBS
ST/
Si/EE
/EEES
Hith— 4%

=B

3CEES
R
[Eliz/ 55352

Em

Hith — %%

3%

5%

3%

5%

2%

2%

3%

2.00%

2.00%

2.00%

5%

5%

Hfh=2%

XH

FE RN
Hh=2%

<H

7S
Hitt=2%

XH

3%

2.50%

5%

5%
5%
5%

13/14



1T
U — T

14/14


http://www.tcpdf.org

